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Note : Attempt any five questions. All questions carry equal 

marks. 

1. 	(a) For each of the following statements indicate 	5 
whether it is true or false. 

(i) All DNA polymerases can initiate 

DNA replication. 

(ii) Plasma cells are antibody secreting 

cells. 

(iii) Lactose is a non-reducing sugar. 

(iv) Hemoglobin is an allosteric protein. 

(v) Pyruvate dehydrogenase is a multi-

enzyme complex that converts 

pyruvate to acetyl- CoA. 

	

(b) (i) 	How will you separate mitochondria 	2 
from a mixture of mitochondria and 

rough endoplasrnic reticulum ? 

	

(ii) What is the advantage of a coupled 	3 
reaction ? Give an example. 
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2. 	(a) What are the similarities between DNA 	4 

replication and transcription ? 

(b) 	How protein synthesis is initiated in 	6 

prokaryotes ? Give details of the reaction 

catalysed by aminoacyl tRNA synthetase. 

	

3. 	(a) Write the product formed when, 	 3 

(i) galactose is treated with mild 

oxidising agents. 

(ii) ribose is heated with strong mineral 

acids. 

CO glucose is treated with acetic 

anhydride. 

(b) Give one physical and one chemical method 
	

2 
for immobilisation of enzymes for industrial 

applications. 

(c) How is glycogen metabolism regulated ? 
	

5 

	

4. 	(a) 	Define Ti„. What is the condition for 	3 
renaturation of heat collapsed DNA ? 

(b) 	(i) 	What are essential fatty acids ? Why 	4 

do fatty acids with a cis double bond 

have a lower melting point than the 

corresponding fatty acids with a trans 

double bond ? 

(ii) 	Differentiate between phospholipids 	3 

and glycolipids. 
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5. 	(a) 	What is the effect of the following factors 

on the rate of an enzyme catalysed 
reaction ? 
(i) Substrate concentration 
(ii) pH 
(iii) Temperature 

(b) How is acetyl - CoA produced ? How is its 	2 

entry into ICA cycle regulated ? 

(c) Write the physiological functions of till 2 
of the following : 
(i) Iron 	(ii) Sulphur 

	

6. 	(a) 	Differentiate between cellular and Immoral 	5 
immunity. 

(b) 	Write the steps involved in the cloning of a 	5 
gene in a plasmid vector for the production 
of biologically important molecules. 

	

7. 	(a) 	What is the difference in fixation of CO, in 	5 
C;  and C,1.  plants ? Why is it so that the 

photosynthetic pigments are arranged on 

chloroplast membranes and not in solution 

in the stroma ? 

(b) Explain the planarity of the peptide bond. 	3 

(c) Describe the oxygen binding curve of 	2 
haemoglobin. 
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1. 	(a) r-I 	oRgo 	 fi 	 tof7g7 fa-) Em- 	5 

t 342-1-41 31F/RT: 

(i) DNA *I3-1--f- U9 'Mt 7,44-)1k -t DNA 

(-(k,4141 	 
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(iv) iir29 t I 

(v) -r-r7Tka 	 u‘,4-> t:r1 	 

#T7 71 	ch) 	--C_oA 4 
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? 
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-4.tiifTrd s-Tfli-r-wzrr m-1 azi-r 	 -) 	3 

dqr,tui q'ir,,RI 

	

2. 	(a) 	DNAt19rd 	TT -q-174. TETT -14-11-R-Illt 	4 

(b) 	.511-a-17 4c..)t4ui 	3-Trti-Ti 	mchR 	6 

cI 	? .Q4141QR-ici tIZNA 1IT 	.10 3-.;‘rft 

3-Tf47A-mi raTd-R f -F-Tg-TT, 

	

3. 	(a) k1cf60-11q f--,17 I 	 3 

(i)  

(ii) 77-4T-44 ,411 	T TTF-97 3-1141. 2t- 

-31--f-rfwzrr 

(iii) TT chl 	 -4-rn 

(b) 3fti.211* ‘3-11m41411 	FoQ, 	-114-{ f-d1'Ich(1-11 	2 

	tqfq 	I 

(c) 	Jc4t3i1 -ItLi=-N oh I fTzfrii   t? 	5 

	

4. 	(a) 	T •t 	'CITINU --1-f77 I 6.)u-11 5.1“ Facprclopcf 	3 

[)NA 4) 	 cl-)1 c-4 tr17#2,1t 6)1'1 ? 
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(i) 4i4   rt ? 4d 41(1 07 	4 

°Hi 3-TF4 

fgaTTY--T 	fRT 	R-T-111, 	ct-,4• 

(ii) ,3-id4, 	3 

717 	I 

	

5. 	(a) 	v,* 	 3-7N-f1 .T1-  7 TIT F-1 4-1 Frik.Aci 	6 

(411 cu3141-4iir t? 

(i) fTz19--17 	I 

(ii) pH 

(iii) c1144-il1 I 

(b) -t4flf?" - CoA f 	-)R 	ttfff 	TCA 	2 

T 1i 	14-J.4 Ych1( 	 

(c) 1i1ci -14 	rWTft qch 	7F1- 6'-110-101-) 	2 

f#A7 

(.) 3-1774T9 	 (ii) 7T(777 

	

6. 	(a) 	c+-,  14-) 	 41'4 6-IcR 3TtZ 	5 

111 	1iM 

(b) 	 t 4-i67-41-V 	 5 

1-(111415 	41.-f qi-f-4-11 	TifT-Tiftid 

	 ittclq 
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7. 	(a) C3  .ff2TT C4  tfr-  t CO2  T-WhTui t 	ce-ii 	5 

3f-d7 t? 	quft tra-wr 

-erwT q1-1-trc 	-ER qz4 

61t? 

(b) "47T 	3-1T 4q 	HO 	(1 	ti -if 	c41 R911 	3 

.4f7-7 I 

(c) 	clroli t 	34T-41-1-  c911 	quii 	2 

tlf7 
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